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QUESTION 1

What is meant by the velocity of the team? 

A. The rate a team puts in a normal work day. 

B. The rate at which features are released to the customer. 

C. The rate at which the team completes the work. 

D. The rate at which the team renews itself. 

Correct Answer: C 

 

QUESTION 2

A story was estimated at eight ideal hours. A working day is eight hours. Developers can get about six hours of work
done on a daily basis. 

What is the elapsed time required to complete the story? 

A. 1.25 days 

B. 1.33 days 

C. 2 days 

D. This cannot be determined without knowing the velocity. 

Correct Answer: B 

 

QUESTION 3

What is an "escaped defect"? 

A. A defect that was found by the customer. 

B. A defect that was planned to be fixed, but not fixed in a Sprint. 

C. A defect the Continuous Integration System failed to catch. 

Correct Answer: A 

 

QUESTION 4

A team decided to install a large traffic light in the team hall to indicate whether the latest build was healthy (green),
failing a few tests (orange) or failing high priority tests (red). 

What term can be used to describe the traffic light? 
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A. Information radiator 

B. Osmotic communication 

C. Triangulation 

Correct Answer: A 

 

QUESTION 5

What is a Sprint? 

A. A brainstorming session in Extreme programming to generate design ideas. 

B. A race between two developers to see who can complete a feature fastest. 

C. One iteration in the Scrum methodology. 

D. The last iteration in the Scrum project, when the team works long hours to finish the project. 

Correct Answer: C 

 

QUESTION 6

During a Sprint, the team completes four stories with story points 3, 5, 8 and 2 respectively. They further complete half a
story with a story point of 13. 

What is the velocity of the team? 

A. 18 

B. 24.5 

C. 31 

Correct Answer: A 

 

QUESTION 7

What is the objective of the Scrum-of-Scrums meeting? 

A. To inform management about the progress of the project. 

B. Bring together all team members of all teams. 

C. Coordinate the work of multiple Scrum teams. 

D. Kick-off an international Scrum project. 

Correct Answer: C 
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QUESTION 8

A team estimates a Story using the Planning Poker technique. The team decides to allocate five Story points to the
Story, because the Developers estimated two points and the Testers estimated three points. 

Which statement is true regarding this scenario? 

A. Points are assigned by the Scrum Master, not by the team. 

B. Points are assigned for the overall Story, not for parts of the Story. 

C. Points are never estimated, but always determined beforehand. 

D. The team forgets to ask the Product Owner about the estimate. 

Correct Answer: B 

 

QUESTION 9

Who is responsible for implementing the actions agreed upon by the team during a Retrospective? 

A. The Product Owner 

B. The Scrum Master 

C. The team 

Correct Answer: C 

 

QUESTION 10

Which statement describes Release Planning? 

A. After looking at all the stories in the backlog, the team estimates their effort in detail. 

B. The team meets with the customer to negotiate the scope, cost and time of the release. 

C. The team and the Product Owner agree on an initial plan for the delivery of features. 

Correct Answer: C 
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